


- DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.
Roadway 16 feet wide. Side Slopes 1 on 1.
For Single Track Embankment.

: : ,
H”O 1[.2[3].4[ 5[6[7[8]9”
O 80| BI[ 82| 83[ 84| 85[ 86| 57 5515575
11 90| 91] 92 93| 94| 95| 06| 97| 05| o9 |
21100 /10.11102(10.3| 1014 | 10.5( 1056 | 107 | 108 | 100 || =
811101101 | 1121113 ) 114|115 116 | 117 | 118 | 139 | 2

© 41120121 122123 | 1214|1255 [ 1256 [ 127 | 128 [ 159 | &
501301131 1321333 | 1314 [ 135 | 15.6 | 13.7 | 138 | 139 | &
611401141142 143 | 144|135 | 1456|147 | 148 | 149 &
71150151152 (153 | 15.4 1555|156 | 157 | 158 | 159 || -
81160161162 (163 |16.4] 1655|166 |16.7 | 168 | 169 |

- 911701171 11721 17.3 | 17.4| 1755 | 176 | 177 | 178 [ 199 ] &
10 118.01 1811 [ 182 | 1833 | 1814 | 185 | 1816 | 1877 | 1838 | 109 || 10
11 119.0119.1 /192193 19.4| 1955|196 | 197 | 1.8 | 10:0 || 10
12 120.0 | 20.1 | 202 | 203 [ 20.4 | 20.5 | 206 [ 207 | 208 | 209 [ 15
13 1210211212 (21.3]214 (215|216 |21.7 | 218 | at0 || 12
14 (220231 | 222 | 2233 | 22.4| 225 | 226 | 227 | 225 [ 239 | 15
15 123.0 (2311232 | 233312314 | 23.5| 236 | 23.7 | 258 | 959 | 15
16 24.0(24.1 | 242|243 | 204 | 245|246 [ 247 | 248 (929 | 10
17 125.0 1 25.1 (252 | 25.3 | 25.4 | 25:5| 25.6 | 25.7 | 25:8 | 250 || 10
18 126.0 | 26.1 [ 26.2 | 26.3 | 2614 | 265 | 26.6 | 26.7 | 268 | 269 || 14
10127.0127.1(27.2| 27.3| 2714 | 2755 | 276 | 2777 | 273 | 970 || 10
20 (28.0 | 28.1| 282 (283 [ 254 | 285 | 2316 | 287 | 28.3 | 29.9 || 20
1129.0(29.1129.2(2933]2914 [ 205 [ 206 | 20.7 [ 20:3 | 359 || o
22 1300 (30.1 | 30.2 [ 30.3 | 304 | 30.5 | 30.6 | 30.7 | 30.8 | 30.9 | o
23 131.031.1131.231.3 [31.431.5|31.6 | 317 | 318 | 319 | o3
24 13270321 | 32 32.4 3255 | 32:6 | 327 | 328 {320 | 24
25 1133.0 1331 332|333 (3343355336 337|335 | 359 [ o5
126 134.0 (34,1 (342 343|344 | 345|346 | 347 | 348 | 329 | o6
27 135.0(35.1 | 352|353 | 354 | 355 | 35.6 [ 35.7 [ 35:8 | 359 [ 20
20 136.036.1 362|363 [36.4| 365 | 36.6 | 36.7 | 36.8 | 30.9 [ o5
20 1137.087.137.2 '37.3 [ 37.4| 375 | 37.6 | 37.7 | 373 | 379 [ 20
80 138.0(33.1| 382|333 | 3814 | 385 33'6 | 387 | 353 | 359 | 30
81 1139.0/39.11392 1393394395 [30.6 | 39.7 [ 303 | 309 [ 59
8% 1140.0 40.11 402 | 403 | 204 | 405 [ 40.6 | 40.7 | 20.8 | 309 | 33
851410411 (4121413 | 414|415 | 416 | 417|418 | 419 | o3
84 1142,0 | 42.1 | 4291 423 | 424 | 225 | 4276 | 4277 | 423 | 459 | 55
35 143.0143.1 | 4391 483 | 43.4 | 435 [13.6 | 437 | 438 | 459 | o
80 1440|441 | 442 1943 | 4a'a | 445 | 216 | 4477 | 408 | 449 | o0
37 1145.0 | 45.1 | 452 453 | 45.4 | 45.5 | 45.6 | 45.7 | 45.8 | 45.9 | 3
88 46.0 | 46.1 | 46.2 | 46.3 | 46.4 | 465 46:6 | 46.7 | 46.8 | 40.9 | o5

80 147.0 14711472 | 473 | 47.4| 4755 | 47.6 | 477 | 478 | 479 | 39
40148.0148.11482148304841 48514556 | 457|355 | 4ag | oo

| Example—If point ig 2216 ft. above grade, how far should it be from center line
to be a slope stake poinit? «Angs. from Table 30.6. . For same slopes but other widths
of roadbed, correct above'fi %by.ope;half.. ifference in "’it'ih of roadbed; thus in
b example above, for 20 ft.foa d distanice will be 30.6—1—(‘2?)’— 6)+2 or 2 ft. added to
30.6 =32.6. For slopes of 1 on 1 14 see inside of back cover.
\ Copyright, 1914, by Eugene Dietzgen Co,

4/59

b

MICROFILMED
JAN 12 1985

|

{

'Vﬁ'-’i-’;;ﬂ{a




\

ool 2| >

[y
SDWOTB ORI

b
=o%

P
(PNl )

14




2

R P s

e R pp—

I3




-

SSE

12047 08 K 19 13 KD

s

S0 019 843 £

DD =t ot

4







== S e T S
T T N N T S T S S T P T T T e e R

I S%5m

T T
























































































T e 1 A T i+





























































——————







e e T T SRR 3


































:
;
;
[




ARSI R 7 L TSI e A OB BT | bl

























éo»’;r’” a7t | Waler .:;f»(ﬂ//c Waier Ge/|
/\/a//‘f';'} Eas / /5 A

. 3 50& 2800 foéo /0. ey 6245 ‘
- 7
Q(ﬁc)o /J -é

4 ?70 /0 /b

,; ::' 7 '7 /z/

P Vi y
Jeo e e /&

-Q’GS-C) /1 /L/
3200 A49¢o~ /o /3

Jooe - ) ¢

’ -
4 s g
So0be |V

TAYG 1T T
2260 Loso G /8

v

.‘/‘oacy /1 Zo
4960 7 /4
B 373 aécoo 4960 /o 123

7

v

472 Jooo 1) | 2o

274 | el i
LT T

B9 | v i i

397 | v 12
















/

CALCULATION OF EARTHWORK. -

HEIGHT

DISTANCES FROM CENTER OF ROADWAY FOR CROSS-SECTIONING.

Roadway 16 feet wide. Side Slopes 1 on 17z,
For Single Track Embankment.
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Table gives cu. yds. in 1 ft. of a triangle of given width and height. Corvections for
tenths of width are one tenth the values found under each height considering the widths
from 1 to 9 as tenths and similarly the corrections for tenths of height are one tenth the
figures opposite width considering the heights from 1 to 9 astenths. Thusifw =16.2 and
h =5.3, cu. yds. =1.484-.028+-.089 =1.597 cu. yds. orpractically 160 cu. yds. per 100 ft.
If w exceeds 40 ft., use one half and multiply result by 2, if both w and h are large use
one half of each and multiply result by 4. Any cross-section may be divided into
triangles by the followingrule. To the triangle of the sum of the outside cuts (or fills)
=h, and 14 the roadbed =w, add the triangles formed by taking the distance out to each
break in turn ( =w’s) by the difference between the cuts (or fills) on each side of it ( =h’s)
always subtracting the outer from the inner.
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64.7 | 64.9
1|66.2 |66.4
67.6 | 67.7 | 67.9
69.1 | 69.2 | 69.4

owms

&
N 0= O
29 VNI O 00

00 &0 00 ©0 00 T 00 &9 00 39 00 &0 50 9 00 &3 0 &9 60 € 5o B9 50 &9 90 &9 50 &9 6o

ROPIMWNO®©

DN N=O
1O ST B0 AT 19 <3 B9 T 19 =1 b0 ~T b0 N1 D0 ST 10 ST b ~1 B9 ~1 1o

) = O 00 ST LT i bO = 2O 00
N

monoLronaMOMSO Moo o
I DO O =IO i 00—~ O 00

W

U\Ehbmb&bhbhoé}!b&bh
LRI WN=O

N DD DD = bt et et ek et
DO DD bt ok ok ok o ok
D DD B femd ok ok ok ok ok ok
DO DD bt ok ok ot ok ok ok

IS

N

(vE}

<

DO DO B DD bt bk ok ok ok ok ok

TW IO
%5 S 00 ST ¢

(S
o

N N D BO b

SPOAWNODNO W
O 0D 0O DD DI RO BD b et ot ok s ok

[P oR=r R

ot
02 09 BO MBI MO B
R O00s

(L]

SRS D NS 9= S 00 I G B0 20 00

2 00 €O CO OB DD DD DY b
[=r v

(VoYL

[
0
HOHOHOHD RO OG-0 -0~

1 09 09 02 69 09 €9 1Y B BO b
OCANNBER—D RS

o)
©
O S 00T T L0 10 O O = 9 i 00 H D 00 < U i b0 = ¢ 60
W i €0 €0 00 GO 09 69 6O b b

B0 =1 10 ~T RO~ 10 3 12 ~T b0~ B0 =1 b9 ~J b9 ~T b ST Fio ~3 10 Y b9~ B9 o 1 =1 b9 =7 b9

WO

=
D O
(V]

B B B i 00 00 00 00 G0 G0 B BN D BN DO DD B bt et sk ot ot ek ok
<

or o S S A B GO SO Lo Lo OO L
O SI Ot o=
u.o;:-q.':;:-;c»—;;m_\x.omaw.—-
o
Cr Ok i i
1O = © o
NN~

:
e
= .
(]

O O Ot
T L

1
J

> & Q¢
D =~
B ~

CUOURONDNOUIO Ut
SO S D NG g0
b9 ~1
(orfarferlerfarRerlls; 6 ¥9; Ho; ¥e; X
(o2 ] Rar N, Ho) 4
L s B
S VI )

o

66.8
63.3

DD DD O B G O S i e
PSP 1 O D ~ ST
BAGERESRIAL B S
O DO DO UGN GO T
PUAGE DD DS G T

00 &0 00 &9 00 22:00 &0 0 20 50

[org e
R = E
[V ]

Example—If point is 22.6 ft. above grade, how far should it be from center line to
be a slope stake point? Ans. from Table 41.9. For same slopes but other widths of
roadbed correct above figures by one-half difference in width of roadbed; thus in example

. above for 20 ft. roadbed distance will be 41.9+4-(20—16)+2 or 2 ft. added to 41.9 =43.9,
. For slopes of 1 on 1 see inside of front cover,

Made in Germany.




